
Component Item Number Component Item Description Qty Required Per 

Game 

CAAMPSS M180 Power Amplifier Kinter MA-180 - Simpson's Soccer 1.00

CAASMRT BOTTLE RING TOSS BOTTLE COMPLETE BOTTLE ASESMBLY 45.00

CABATPI CR1220 CR1220 Lithium Battery 3V for PI Board 1.00

CABRGRT GROMMET Nylon 5/8" Bearing for 11/16" Insert, 20-8790-15 4.00

CABRGRT SC12UU 12MM SC12UU Linear Ball Bearing Slider Slide Bushing 8.00

CACABRT Ring Toss Body & Front Cabinet Assembly w/Skids 1.00

CACASRT 80219 1/2-13 X 1-1/2” CASTER, RING TOSS,SHIP TO GA 10.00

CACBLRT 7INMICRO Micro USB Short Sync Cable for RT50 harness, Ring Toss 1.00

CACBLRT CAT5ETH Cat5e 15 Foot Network Ethernet Patch Cable, RT, MIN, RTJ 1.00

CACBLRT HDMI/DVI HDMI to DVI Cable 10 Feet HDMI Male to DVI(24+1) Male Cable 1.00

CAG&GRT IMP03 Ring Toss Rings (Black), Rev D - Ring Toss 75.00

CAG&GRT PLS02 Tumbler Side Wall Rev G - Ring Toss 1.00

Ring Toss Parts List 



CAG&GRT PLS03 Tumbler Elevator, Rev F - Ring Toss 1.00

CAG&GRT PLS04 CURVED SIDE CLEAR PLEXI,  Rev F - Ring Toss 2.00

CAG&GRT PLS09 Ring Wall Rev A - Ring Toss 1.00

CAG&GRT PLS10 Long Agitator, Rev A - Ring Toss 3.00

CAG&GRT PLS11 Hopper Ring Pad, Rev A - Ring Toss 1.00

CAG&GRT PLS12 Foul Line Plastics 3/16", Rev C - Ring Toss 1.00

CAG&GRT PLS14 Elevator Plate Hold Down 1/4", Rev B - Ring Toss 1.00

CAG&GRT PLS18 Camera Spacer, Rev A - Ring Toss 1.00

CAG&GRT SCP01 Ring Screen  Rev E - Ring Toss (Please Wait) 1.00

CAG&GRT SCP02 Console Screened Plastic, Rev C - Ring Toss 1.00

CAG&GRT SCP03 Monitor Cabinet Plex, Rev E - Ring Toss 1.00

CAG&GRT SCP04 Front Console Decal, Rev B - Ring Toss, LOC: GA 1.00



CAG&GRT SCP05 Right Console Decal, Rev B - Ring Toss, LOC: GA 1.00

CAG&GRT SCP06 Left Console Decal, Rev B - Ring Toss, LOC: GA 1.00

CAG&GRT SCP07 Right Main Cabinet Decal, Rev B - Ring Toss, LOC: GA 1.00

CAG&GRT SCP08 Left Main Cabinet Decal, Rev B - Ring Toss, LOC: GA 1.00

CAG&GRT SCP09 Right Monitor Cabinet Decal, Rev B - Ring Toss, LOC: GA 1.00

CAG&GRT SCP10 Left Monitor Cabinet Decal, Rev B - Ring Toss, LOC: GA 1.00

CAG&GRT SCP11 Main Cabinet Support Decal, Rev B - Ring Toss, LOC: GA 1.00

CAG&GRT SCP12 Canopy 39 X 66, Rev C - Ring Toss 1.00

CAG&GRT SCP16 Rear Cover Decal  Rev A, Ring Toss 1.00

CAG&GRT SCP17 Lifting Tray Decal Set (L & R Side), Rev C - Ring Toss 1.00

CAG&GRT SCP20 Foul Line Decal, Rev B - Ring Toss 1.00

CAG&GRT SCP21 Value Clings, 8 Mil Clear Static Cling - Ring Toss 1.00



CAHANTR 49006700 CABINET GRIPS, TR BTP, RT, YZ, SWS, HW 2.00

CAHARRT RT01 Bottle Harness (7 Per Game), Ring Toss 7.00

CAHARRT RT37 Console Ground Harness (3 per), Ring Toss 3.00

CAHARRT RT39 AC Monitor Harness,  Ring Toss 1.00

CAHARRT RT40 AC Power In Harness,  Ring Toss 1.00

CAHARRT RT42 EMI Harness,  Ring Toss 1.00

CAHARRT RT71 AC Signage Module, Ring Toss 1.00

CAHARRT RT73 Ground Jumpers Harness 3/Per, Ring Toss 3.00

CAHARRT RT74 5V Jumpers Harness 3/Per, Ring Toss 3.00

CAHARRT RT75 Ticket Door Ground Harness, Ring Toss 1.00

CAHARRT RT80 Tray Harness, Ring Toss 1.00

CAHARRT RT81 Console Harness, Ring Toss 1.00

CAHARRT RT82 Body Harness, Ring Toss 1.00



CAHARRT RT83 Ac Power/Bill Acceptor Harness, Ring Toss 1.00

CAHARRT RT84 Top Light/Camera Harness, Ring Toss 1.00

CAHARRT RT85 Hopper Extention Harness w/ 3amp slow blow fuse, Ring Toss 1.00

CAHARRT RT86 Sensor Detector Trough Harness, Ring Toss 1.00

CAHARRT RT87 Sensor Hopper Ring Detector Harness, Ring Toss 1.00

CAHARRT RT88 12V Jumps p/s Harness, Ring Toss 1.00

CAHARRT RT89 Ground Jumps p/s Harness, Ring Toss 1.00

CAHDWBTP92000A10 Pan Head Phillips Screws, M2.5 x 0.45mm Thread, 5m 12.00

CAHDWRNG97431A32 SideMount External Retaining Rings for 3/8" OD, Blk97431A320 2.00

CAHDWRT 91010A21 Push-In Blind Rivets, Black, .375 X .791, Ring Toss 10.00

CAHDWRT 91598A47 1/4" Diameter, 3/4"L Stl Coiled Spring Pins  , Ring Toss 2.00

CAHDWRT 93330A47 Round Standoff, 1/4" OD, 3/4"L 10-32 Thread Screw, Ring Toss 1.00



CAHDWSCR92311A57 18-8 SS Cup-Point Set Screw 1/4"-20 Thread, 1/2" Long PK 100 12.00

CAHDWRT WASHER8 Countersink Washers #8 Screw for Side Plexi, Ring Toss 40.00

CALC 8' N59683SJ 8' Line Cord N59683SV  EC2111 - COASTAL 1.00

CALEDCW SFGYD20 20CM Cool White LED Fixture 1.00

CALEDCW SFGYD75 75CM Cool White LED Fixture 5.00

CAMETBRKMETERBRK Meter Bracket for Large Tri-Door 1.00

CAMETRT 1863A22 Latch, Zinc-Plated Steel, 4-1/2" Long x 1-7/8"W, Ring Toss 2.00

CAMETRT 610949 Corner Brace L Bracket 1", Ring Toss 1.00

CAMETRT R2000202 Concealed Butt-Joint Panel Fastening Latch 4.00

CAMETRT R2005502 Concealed Butt-Joint Panel Fastening Latches 4.00

CAMETRT SM09 Tumbler Motor Bracket, Rev C, Ring Toss 1.00

CAMETRT SM10 Tumbler Bearing Plate, Rev C, P Blk, Ring Toss 1.00



CAMETRT SM102 Main Cabinet Hopper Cover, Rev B,YELLOW Ring Toss 1.00

CAMETRT SM103 Lifting Mech Frame Welded Sheet Metal, Rev B, Ring Toss 2.00

CAMETRT SM105 Elevator Pinch Plate, Rev A, Ring Toss 1.00

CAMETRT SM106 Ring Opto Hold Down Large, Rev C, Ring Toss 1.00

CAMETRT SM107 Hopper Single Opto Mount, Rev A, Ring Toss 2.00

CAMETRT SM110 Foul Line Bracket, Rev A, YELLOW Ring Toss 2.00

CAMETRT SM111 Interlock Bracket, Rev B, Ring Toss 3.00

CAMETRT SM112 Main Cabinet Corner Bracket, Rev C, Ring Toss,SHIP TO GA 3.00

CAMETRT SM113 IEC Plate, Rev A, Ring Toss 1.00

CAMETRT SM115 Meanwell Mounting Bracket Rev A, Ring Toss 8.00

CAMETRT SM117 Cross Brace, BLK WRINKLE Rev C, Ring Toss 2.00

CAMETRT SM118 Camera Slide C Bracet, BLK WRINKLE Rev A, Ring Toss 1.00



CAMETRT SM125 Console Alignment Tab, Rev A, Ring Toss 2.00

CAMETRT SM127 Rack Hold Down Bracket, Rev A, Ring Toss 2.00

CAMETRT SM130 Bottom Actuator Mount, Rev A, Ring Toss PA-18 Actuator Only 1.00

CAMETRT SM131 Actuator Top Brace, Rev B, Ring Toss (PA-18 Actuator Only) 1.00

CAMETRT SM132 Actuator Lift Bar, Rev B, Ring Toss (PA-18 Actuator Only) 1.00

CAMETRT SM133 Grab Bracket for Motort, Rev B, Ring Toss (PA-18 Actuator On 2.00

CAMETRT SM19 Tumbler Top Sheet Metal Support Rev B, RT SHIP GA 1.00

CAMETRT SM20 Tumbler Pem Bracket, Rev C, Ring Toss, Ship to GA 4.00

CAMETRT SM22 Ring Opto Hold Down, Rev F, Ring Toss 5.00

CAMETRT SM23 Tumbler Mounts, Rev B, Ring Toss 4.00

CAMETRT SM30 Micro Switch Support, Rev C, Ring Toss 1.00

CAMETRT SM31 Behind Bottles Rear Cover, Rev E, Ring Toss 1.00

CAMETRT SM34 Bottle Support 6, Rev H, Ring Toss 3.00



CAMETRT SM35 Bottle Support 7, Rev H, Ring Toss 4.00

CAMETRT SM36 Frame Lifter Bearing Support, Rev B, Ring Toss 2.00

CAMETRT SM37 Left Side Bottle Support, Rev F, Ring Toss 1.00

CAMETRT SM38 Right Side Bottle Support, Rev E, Ring Toss 1.00

CAMETRT SM42 Wheel Hat Bracket, Rev E, Ring Toss, Ship to GA 6.00

CAMETRT SM43 Southco Lock Mount, Rev C, Ring Toss 4.00

CAMETRT SM44 Ring Funnel, Rev D, Ring Toss 1.00

CAMETRT SM45 Z Bracket Plex Support, Rev C, Ring Toss 2.00

CAMETRT SM47 Electric Box, Rev B, Ring Toss 1.00

CAMETRT SM48 AC Cover Plate, Rev B, Ring Toss 1.00

CAMETRT SM49 Podium Ring Tray, Rev N, YELLOW Ring Toss 1.00

CAMETRT SM50 Podium Hinge,BLK WRINKLE Rev A, Ring Toss 1.00



CAMETRT SM51 Lid Support Bracket, Rev B, Ring Toss 1.00

CAMETRT SM53 Latch Catch, Rev B, Ring Toss 2.00

CAMETRT SM54 Podium Opto Bracket - Ring Toss SM54 4.00

CAMETRT SM56 Rear Door L Bracket, Rev B, Ring Toss 4.00

CAMETRT SM57 Top Frame Crossbar, Rev G, Ring Toss 2.00

CAMETRT SM61 Glass Horizontal Support, Rev E, Ring Toss 2.00

CAMETRT SM62 Canopy Vertical Support, Rev A, Ring Toss 2.00

CAMETRT SM63 Front Frame Support, Rev C, Ring Toss 1.00

CAMETRT SM65 Canopy Support Bar, Rev B, Ring Toss 4.00

CAMETRT SM66 Canopy Connnection Bracket, Rev B, Ring Toss 1.00

CAMETRT SM67 Lifting Tray, Rev H, Ring Toss 1.00

CAMETRT SM68 Snap In Bearing Bracket, Rev C, Ring Toss 4.00



CAMETRT SM70 L Bracket Cross Support, Rev D, Ring Toss 2.00

CAMETRT SM77 Tumbler Hub, Rev F, Ring Toss 2.00

CAMETRT SM82 Carrier Webbing, Rev B, Ring Toss 2.00

CAMETRT SM83L Curved Arch Support Square Tubing Left, Rev E, Ring Toss 1.00

CAMETRT SM83R Curved Arch Support Square Tubing Right, Rev E, Ring Toss 1.00

CAMETRT SM85 30 Degree Light Hanger, Rev A, Ring Toss 8.00

CAMETRT SM89 Electronics Tray, Rev K, Ring Toss 1.00

CAMETRT SM92 PI3 Camera Housing, Rev C, Ring Toss 1.00

CAMETRT SM93 PI3 Camera Top, BLK WRINKLE Rev C, Ring Toss 1.00

CAMETRT SM94 PI3 Camera Crossbar, Rev E, Ring Toss 1.00

CAMETRT SM95 Lifting Tray Hold Down Bracket Rev A, Ring Toss 1.00

CAMETRT SM98 Rear Door Bottom Stop, BLK WRINKLE Rev A, Ring Toss 1.00



CAMETRT TP02 Frame Lifter Rod, Rev E - Ring Toss 4.00

CAMETRT TP03L Lifting Tray Support (Long), Rev D - Ring Toss 2.00

CAMETRT TP03S Lifting Tray Support (Short), Rev D - Ring Toss 2.00

CAMETSS SM52 Safety Catch - Rev B 1.00

CAMODEMICW2B10AT AC Power Line 10A EMI Filter AC110V-250V, 10amp, W/ On Off S 1.00

CAMONLCD32 Monitor  LCD 32" 1.00

CAMOTRT 218CYT3 Cytron 13A DC Motor Driver MD13S, PN00218-CYT3 Ring Toss 1.00

CAMOTRT PA1812DC PA-18-9-150-CA  CUSTOM 12 VDC 9" STROKE MOTOR, RT 1.00

CABRKRT RTPA18 T-SHAPED MOUNTING BRACKET FOR PA-18 MOTOR, RT 1.00

CAMOTRT 4163 Hopper Gear Motor, Rev F, 12 Volts, 12  RPM, Ring Toss 1.00

CAMTRHS HS/005 HS-01CT (HS-005) Counter 6 digits 12VDC, screw mount w diode 2.00

CAPCBMEM16GMICRO  SanDisk 16GB 4 Micro SDHC Memory Card Raspberry PI 2.0 2.00

CAPCBPI CAMERA 8MP Raspberry Pi™ Camera Module 1.00



CAPCBPI PI3I/O PI I/O Board - Rev C.2 1.00

CAPCBPI3RASARMV8 Raspberry Pi 3 - Model B - ARMv8 with 1G RAM 2.00

CAPINRT 92401A68 316 SS Clevis Pin, 3/8" X 1-1/2, Ring Toss,92401A688 1.00

CAPLURT P7PLUG P7 Power Plug, Ring Toss 1.00

CAPS RT LRS35012 POWER SUPPLY MEAN WELL LRS-350-12 1.00

CAPS RT SE6005 Power Supply Mean Well SE-600-5 1.00

CASENRT OPB100EZ Infrared Emitters 890nm Emitter Blk/Red, Ring Toss 3.00

CASENRT OPB100SZ Optic Transmitter/Receiver Infrared 890nm Sensor Grn/Wht 4.00

CASPEUNI BRS40 Boss Speaker (Universal) AVA-BRS40  4" 4 OHM 2.00

CASWIPB 8411K11 Momentary Switch - EC2004 3.00

CASWIRT E6930A Snap Action Cherry Switch SPDT 10A 125V, Ring Toss 3.00

CASWIRT SPDT3A Snap Action Switches 3A Double Bend Act SPDT QC187 200gF 1.00



CASWITOG2047 Toggle Switch  EC2107 1.00

CATERBARMS/4/140 Barrier Strip w/Tabs, 4 Position 6.00


